


Practicing the Split Strategy

1)

There are 63 pencils in the drawer. Sam placed 26

more pencils in the drawer. How many pencils are

now there in total ?

63 + 26 60 + 3
20 + 6
Answer = *

2)| There are 75 trees currently in the park. Park
workers will plant 11 more trees today. How many
trees will the park have when the workers are
finished ?
75+ 11 +

+

Answer = *

3) | Dane has 54 books. Kenny has 13 books. How many

books do they have together?

+ -

Answer = =







4)

Benny grew 36 watermelons. Sara grew 41

watermelons. How many watermelons did they grow

inall ?

- -

Answer = +

5)

Sandy picked 64 lemons and Sally picked 35 lemons

from the lemon tree. How many lemons were picked

in all?

+ +

Answer = +




